DU MA Political Science

Topic:- PS MA
1) Which theory did Marx borrow from the liberal economists?

ATFd F ST Adqriat @ w7 a1 fR™rgia 75w FHI7 T1?[QuUestion ID = 1472]
Theory of class-struggle/af-#= #T ffrgia [Option ID = 5885]

Theory of alienation/ =T #T f&rgTa [Option ID = 5886]

Labor theory of value/=¥ #T g=a firgid [Option ID = 5887]

Theory of democracy/=T#d= #T f&rgid [Option ID = 5888]

A WN -

2) A.The rise of German power caused World War I.

B. Kaiser Wilhelm II's clumsy diplomacy caused World War I.

C. Germany's militarist ideology, which glorified aggressive war, caused World War I.
D. The capitalist class conflict caused World War |

Choose the correct answer from the options given below:

A SHT afxw F7 337 wa7 g g FT FTC0 97

B. #9< faeg @ Il 71 =¥ eify waw farsa g w1 ®1ow o+t

C. SHAT FY Avxarat =T, [re stwras g F 1 afgard fe frar, saw fow g@ w000 997
D. {Siiufd a3 #71 §oS w7 forsg L& F1L0 q97

A= fT g faswedi & ] 987 ST ¢

[Question ID = 1473]
1. Aand B only/#a« A 3T B

[Option ID = 5889]
2. A, B, and C only/#=<T A, B % C

[Option ID = 5890]
3. Cand D only/#Fa« C &iw D

[Option ID = 5891]
4. All are correct/A, B, C, D &~ft @igr &

[Option ID = 5892]
3) The concept of ‘Policy science’ was formulated for the first time by

Y frara Y s gget 91T frad grer a7 #FY 7€ A1?2[Question ID = 1474]
1. Herbert Simon/z&2 @+ [Option ID = 5893]

2. Charles E. Lindblom/=Te . feigsetiw [Option ID = 5894]

3. Harold Laswell/ZZr== @T&er=t [Option ID = 5895]

4. Yehezkel Dror/gsta< 1% [Option ID = 5896]

4) Duverger-Riker model tries to establish link between

gAS-REFT atead e § 4 s 19 G ea1fUT F3 T 779 FI@T § :([Question ID = 1475]
1. Fundamental Rights and Directive Principles/®ifers srferame @i fA<or ffrgia [Option ID = 5897]

2. Electoral system and caste mobilization/=ATa SUITelt &% STTf &erest [Option ID = 5898]

3. Party system and electoral system /&l SUITeY 3ii% 9AT=T Yot [Option ID = 5899]

4. Federalism and Party system/#=aTg 3% 9Tl JorTe(T [Option ID = 5900]

5) Match List | with List Il

List | List Il

A. Mandala |. Jayaprakash Narayan
B.Advaita Vedanta [ll.Kautilya

C. Saptkranti Ill. Ziauddin Barani

D. Fatwa-i-jahandharillV.Vivekanand

Choose the correct answer from the options given below:

T -l FT gt -1 F gERF Ffv




qT -l = -1

A. HST |. STATHRTY AT
B. srgT A=l II. ®rfaeg

C. gamifa INERICHECEGI
D. AT -T-TgI <t Iv. RrasrHe

19 frg g faswear & @ g sav AT

[Question ID = 1476]

A-1I,B-1,C-UI,D-IV/A-1I,B-1,C-1ll,D- IV [Option ID = 5901]
A-1,B-1,C-IV,D-1II/A-1l,B-1,C-1IV, D - Ill [Option ID = 5902]
A-1l,B-IV,C-1,D-1I/A-1I,B-1V,C-1,D-Ill [Option ID = 5903]
A-1I,B-1IV,C-1ll,D-1/A-1I,B-1V,C-1ll,D-1[Option ID = 5904]

AW N -

6) Which one of the following is not a characteristic of ‘Sala Model’?

fafafea & & 17 91 97 wiex’ ¥ fFAFwar 7€ ?2[Question ID = 1477]

. Institutional corruption/&EIRTd g=T=T [Option ID = 5905]

Nepotism/arfes# [Option ID = 5906]

. Formalism/ffza-fgat [Option ID = 5907]

Actual behavior is similar to formal expectations/aTea e FagT AT=TF FU=ATA % TH g [Option ID = 5908]

A w N =

7) Which thinker made the following statement, “That the unequal should be given to equals, and the unlike to those who
are like, is contrary to nature”?

g fo=res & fetatas w97 farn, 7 qaa7a & a8 a9191 71 fRFvaET ARy, i g samrsraama g, ag o s
faadT 2"?2[Question ID = 1478]

Plato/==T [Option ID = 5909]

Marx/\T# [Option ID = 5910]

Aristotle/31¥Fq [Option ID = 5911]

. Machiavelli/&fF=ma=ft [Option ID = 5912]

A w N =

8) Match List | with List Il

List | List Il

A.“It's a boy!" I. J. Ann Tickner

B."The discipline of international relations, as it has been partially

Il. Cynthia Web
construed, is defined in terms of everything that is not female."” ynta yeber

lll. The telegram in 1952 by Edward Teller confirming

C. ‘Heterosexual matrix’
the success of world's first test of a hydrogen bomb.

D. ‘Women’s participation is important in all efforts for the

. . N IV. UN Security Council Resolution 1325.
maintenance and promotion of peace and security.

Choose the correct answer from the options given below:

oAt - F g -1} AR Al ;
st - =
A, "TEASFTE I I. St.3. fesaz
B. "STTIIHT G 4T BT ATATAA,
qT A FAF FTF FATATAATE, % .
< oo e F weaTvg fear | o T A%

ST afgATAET 8

Il. 1952 § wea¥ < 210 fFar

AT SHATH ST GTSFISA a7 B

AT & 9gd 709w # 1 aRAdr
¥ sear g

C. 'frwasfirs & fera

D. 't {3 ST qI&AT FT TITT TGAT AT
FTAT a4 % T 77187 7 Afgare

’:’TTﬁETﬂ' gAY 7

= few g fawedt & € 9gy AT AT !

[Question ID = 1479]

A-1,B-11,C- lll,D-IV/A-1,B-1l,C-1ll, D-IV[Option ID = 5913]
A-1l,B-1l,C-IV,D-1/A-1ll,B-1l,C-1IV,D-I[Option ID = 5914]
A-11,B-1,C-1l,D-IV/A-IlIl,B-1,C-1l,D-IV[Option ID = 5915]
A-I,B-1l,C-IV,D-I/A-1l,B-1Il,C-1V,D- 1| [Option ID = 5916]

IV. § TTY GI&AT IfX9e gHeq
1325

A wWN =

9) With which of the following scholars of nationalism does Partha Chatterjee lay out his disagreement in his book ‘The
Nation and Its Fragments: Colonial and Postcolonial Histories’?

o FTSHT } ATAT TETH 'T AU TS 5T BAACH: FIAMAAA U Treeawraraaa fgegrsr # wgare 3 fawfafaya & @ vy fagm



F TS AIAT AT T F F1 8?[Question ID = 1480]
1. Anthony Smith /T f&er [Option ID = 5917]

2. Ernest Gellner/#== ==¥ [Option ID = 5918]

3. Benedict Anderson/aafEae T=<a= [Option ID = 5919]

4. Elie Kedourie/T=fT #2T<T [Option ID = 5920]

10) Which Indian thinker is associated with the political pamphlet Bhawani Mandir written during the time of partition of
Bengal?

FATH fAa19T & a7 forg v aaifas drese (73F) g7 w1127 @ Org aredty f91eF w7 959 §2[Question ID = 1481]
1. Sri Aurobindo/=ft srefa=T [Option ID = 5921]

2. Rabindranath Tagore/f3g=Ter 23M¥ [Option ID = 5922]

3. Bankim Chandra Chattopadhyay/af® =% Fgrrear [Option ID = 5923]

4. Subhash Chandra Bose/d«T™ =g a9 [Option ID = 5924]

11) Match List | with List Il

List | List Il

A. Chester Barnard|. Philosophy of administration

B.Herbert Simon |ll.ldeas and Issues in Public Administration
C. Dwight Waldo [lll. Administrative Behavior

D. Marshall Dimock|lV.The Functions of the Executive
Choose the correct answer from the options given below:

T -1 w7 gAY -1l |/ gAY fifvg

gt -l g -l

A, ATz Fais ||l FeataidT stw esfafaegaw

B. g&< qrewa |l AIfATS vT 3o 3 ufsww wefafaz o
C. garge aresT |l wsfafaed feg agfaax

D. wrefw fewt®w |Iv. T BFaw A% T vlrgayfea

= fyg g faweai & @ gy sAc AT :

[Question ID = 1482]

1. A-UI,B-IV,C-Il,D-1/A-1I,B-1V,C-Il,D-1[Option ID = 5925]
2. A-IV,B-1lll,C-1,D-1/A-1,B-1ll,C-1l, D- IV [Option ID = 5926]
3. A-I,B-IV,C-1l,D-1II/A-1,B -1V, C-1l, D -1l [Option ID = 5927]
4. A-1,B-1l,C-1ll,D-IV/A-1,B-1l,C-1V,D-1[Option ID = 5928]

12) Match List | with List Il

List | List Il

A. Contingent foundations |[I. David Held

B. Gender as Performance |ll.Francois Lyotard

C. Culture industry lll. Judith Butler

D. Cosmopolitan democracy|lV.Theodore Adorno and Max Horkheimer
Choose the correct answer from the options given below:

T -l FT gt -1 F gaRta fifve

gt -l gt -l

A. FfESE wTSS I I. Sfas gvs

B. ST TS IXRIA Il ShFTEE FAATE

C. HTIT I ll. ST gTa%

D. FieaTqIfores SHRET V. FraqreIT 711 Us #%9 grd gA<

= g g fawedt & 4 gy AT AT .

[Question ID = 1483]

A-IV,B-1l,C-1ll,D-1/A-1IV,B-1l,C-1ll,D-1[Option ID = 5929]
A-1,B-1l,C-1l,D-IV/A-1,B-1ll,C-1l, D - IV [Option ID = 5930]
A-IV,B-1ll,C-Il,D-1/A-1IV,B-1l, C-1l,D-1[Option ID = 5931]
A-1,B-1ll,C-IV,D-1/A-1l,B-1I,C-1V,D-I[Option ID = 5932]

AW N =

13) A. Westphalia was not a European-wide agreement, but a local affair.

B. Westphalia decreed that each territory would retain the religion it held on 1 January 1624.

C. Westphalia is the only starting point for thinking about these issues.

D. In the 1890s global order was widely understood through the lens of liberal internationalism or liberal solidarism.

Choose the correct answer from the options given below:



A . AR AT ©F FUANT-AT FRATIT AT 971, IRF TF w7 wraAr AT

B. ITEH AT 7 RAAT TATAT I35 73T & 1 TATLT 1624 FT T &+ § TET I9TT T@IT

C. ITCRTAT T LT & TR F A1 FT THATT ALIHF g &

D. 1890 & TF # 3TF TTEAT FT ATTF T & IITT HATTFIAT IT IITL THASAT 3 A7 B ATETH & GHAT 14T AT
= fag e fyweai & @ gt ST HA ¢

[Question ID = 1484]
1. All are correct. /@ @gT &

[Option ID = 5933]
2. A, B, and C only/Fa+ A, B 2T C

[Option ID = 5934]
3. Aand B only/#a A 3% B

[Option ID = 5935]
4. B, C, and D only/#a< B, C T D

[Option ID = 5936]
14) Which of the following statements best captures the meaning of ‘catch all’ parties?

frafafaa & 9 F17 91 F97 7 {AT AT 3 ol w7 7@ F=G T T | IATAT 82[Question ID = 1485]
1. Parties that emphasize on broadening membership and constructing a wide electoral base/3 & ST @&eadT & fawdTe i =ATTF FATAT e & F[wir o

ST 39 & [Option ID = 5937]

2. Parties that reduce their ideological baggage and appeal to the largest possible number of voters/ & ST 37T =TI a1 H FH FIA & AT AAGTATA
T arfershay T @ear w7 o i #d & [Option ID = 5938]

3. Parties whose primary function is to secure large number of votes/fS¥ =t &T UTaIfoeh 19 F=T Tear § 1< grfae F7=1 2 [Option ID = 5939]

4. Parties that wish to mobilize, educate and inspire masses rather than merely respond to their concerns. /THT TfEAT ST Faer STAaT T AT 1 STaTa

T & AT IART TS AT, AT FAT e IR weAr =2 £ [Option ID = 5940]

15) Which of the following are true about Savarkar’s political philosophy?

A. He differentiated between Hindutva and Hinduism and believed that unlike Hinduism Hindutva was a civilizational and
politico-cultural category.

B. He referred to the rebellion of 1857 as 'The Indian War of Independence.’

C. In his book ‘Hindu Pad-Padashahi’ discusses the rule of Shivaji as the last Hindu Empire and also praises the sense of
solidarity among Muslims.

D. He believed that Hindu consolidation was impossible to achieve in light of the practice of untouchability, and hence he
called for its annihilation.

Choose the correct answer from the options given below:

IAHT & AAITTH 47 3 aR | FAATAqT & § 17 97 FI7 97 87
A. S7gi feégea stT g g+ & st= sax frar s arar 5 g g+ 3 fFrodha Ry v avaqr s aadifos-ateg s St o
B. S7giw 1857 & fARTg FT 'WILH 1 T3 TAT GATH' FT

C. FqT gEa® fEg I3-TTIATET & Svgi= (AATSHAT FT 4197 TF & {47 g Aa19757 * IR § ¥971 Fd §C TAAATAT B &1 THLESAT
FTATIAT AT AT TLATHT

D. STAFT ATAAT AT I AT F1 TAT F UATF R B TRFT FT ATH FIAT AAHT 4T, A AT I7FIA 5909 fAa79r F7 sweqrs
faT

A9 frg g faseai & § 9y S9THA ¢

[Question ID = 1486]
1. Aand B only/#Fa« A 3T B

[Option ID = 5941]
2. A, B, and D only/#=<T A, B 3w D

[Option ID = 5942]
3. Cand D only/#a C fiw D

[Option ID = 5943]
4. A, B, C,andD/A, B, C3iw D

[Option ID = 5944]
16) Who defined development administration as “Action-oriented, goal-oriented administrative system”?

fawfaa varaT w1 FTE-ITE, AE-I°q@ IUTafAF qurAt F 7 | FFaq afeariya fFar?[Question ID = 1487]
1. Fried W. Riggs/wrzs =7 &7 [Option ID = 5945]

2. Dwight Waldo/gaTzz aT=T [Option ID = 5946]

3. Robert Dahl/%is€ g [Option ID = 5947]



4. Edward Weidner/T=4< 3=-% [Option ID = 5948]

17) Who amongst the following thinkers is considered a ‘Reluctant Democrat’?

frafafaa @ 9 frw e w1 af =g s SHHT TTATITAT 22[Question ID = 1488]

1. Thomas Hobbes/=taw gi=a [Option ID = 5949]

2. John Locke/STts @i% [Option ID = 5950]

3. John Stuart Mill/sTTe ¥za1¢ f&rr [Option ID = 5951]

4. Alexis de Tocqueville/T=rfFre €T 2ffaer [Option ID = 5952]

18) India is a member of which among the following:
A. Asia-Pacific Economic Cooperation
B. Association of South-East Asian Nations

C. East Asia Summit

Choose the correct answer from the options given below:

w1t fwfafas ¥ @ frasr gz &
A. wftrar-werta sufd+ agaT

B. afdror-gd wferats wrgi w189

C. 74T ufdrar frax avd @+

= fyg g fyweat & @ gt S ¢

[Question ID = 1489]
1. Aand B only/#a« A i B

[Option ID = 5953]
2. Conly/#Fa= C

[Option ID = 5954]
3. A, B,and Conly/A, B, C

[Option ID = 5955]
4. None of them/zZ=# & 7% T&1

[Option ID = 5956]
19) The emergence of constitutionalism is associated with which of the following?

gfagraars 1 Sga fAufafya & & fFFad 19 =T g9 8?2[Question ID = 1490]

. The emergence of contracts between rulers and ruled/smaat =i erTf&dt & == srqaet 1 337 [Option ID = 5957]
. Greater agricultural productivity/# Scarasar & g [Option ID = 5958]

. Increasing theocracy/a=dT ge &r¥a= [Option ID = 5959]

. The emergence of totalitarianism/=f&ATaT %1 327 [Option ID = 5960]

A W N -

20) Which among the following are important nomenclature of states in Kautilya’s Mandala theory?
A. Ari (Enemy state)

B. Vijigishu (State desirous of world conquest)

C. Udasin (Neutral state)

D. Parsnigraha (Friend in the rear)

Choose the correct answer from the options given below:

Fifeeq & 9 AT H MATATET & § F19 8 TSAT & AL ATHRIT 82
A. I (1 TST)

B. fafsrfrg (Forsa fArsrx &1 359 % Trs7)

C. SITHT (TTET T(5T)

D. ITH{ATE (T FT TTEq)

A9 frg g faseqi & & 98 ST ¢

[Question ID = 1491]
1. A,B,Cand D/A, B, C3ED

[Option ID = 5961]
2. A, B, and D only/#a A, B 3fiw D

[Option ID = 5962]
3. Aand D only/Fa« A =T D



[Option ID = 5963]
4. Aonly/FaT A

[Option ID = 5964]
21) The institution of Ombudsman was accepted for the first time in 1809 by

1809 & FIHUTH F7T TEAT FT TZHAT 1T Fras FTTT T HTL FHIT TIT T 1?2[Question ID = 1492]
1. Denmark/EaT# [Option ID = 5965]

2. United Kingdom/7Tzee f¥rew [Option ID = 5966]

3. Sweden/#=T=+ [Option ID = 5967]

4. Switzerland/ffazsdT [Option ID = 5968]

22) Locke’s ‘Essay Concerning Human Understanding’ was a harbinger of:

Tiw &7 T8 F a7 =gaw deswwd R fFast stwga T1?[Question ID = 1493]
1. Renaissance /TR0 &Ter [Option ID = 5969]

2. Reformation/q&TX [Option ID = 5970]

3. Enlightenment/s&Ter [Option ID = 5971]

4. Capitalism/dsftaTa [Option ID = 5972]

23) Which of the the following statements about NPT and CTBT is/are correct:

1. India has neither signed NPT nor ratified it.

2. India has signed CTBT but not yet ratified it.

TAME AT &S & a & fawnfafag 8 @ st a8 sgaadi /8
1. WTIT A T T AT a2 geare< o g shra frzafr gy ard
2. 91T 7 AT a2 geara fog & ¥fpT gt av safr gy adi g

[Question ID = 1494]
1. 1 only/#F= 1

[Option ID = 5973]
2. 2only/#Fa7 2

[Option ID = 5974]
3. Both 1 and 2/3mT 1 3T 2

[Option ID = 5975]
4. Neither 1 nor 2/T a1 1 ST T &F 2

[Option ID = 5976]

24) Which of the following were used as arguments by Raja Rammohan Roy in the memorial submitted to King George on
the subject of freedom of press:

A.Free press improves the bond between the governed and the governor.

B.Free press helps in better and efficient administration.

C. Free Press is a Fundamental Right conferred upon all Indians.

D. Free press allows for non-violent religious confrontations through deliberative mechanism.

Choose the correct answer from the options given below:

FEFTEAAAATH (AT T FHT JAS FT 28T T EFTCH | QAT AAATEA 7 g1 fafofaa # § fFawr a5 3 €7 35394190
frarTET O

A. TET 99 TR AT TSI F AT B Fg9 FT IgALTATAT &

B. T $H dgAL AT AT TATHT # HIE FLAT 5

C. Td S 97 WHT ATTATAT HT TH TI7 ATTAF ATARTTE

D. Tad o 99 fa=-fawe 97 & ATeqw § AEqs arffi®w eFra T qgufaIar g
= YT g faweai & / 987 ST ¢

[Question ID = 1495]
1. Aand B only/#a A 3fiT B

[Option ID = 5977]
2. A,BandD only/#a< A, B T D

[Option ID = 5978]
3. Conly/Fa« C

[Option ID = 5979]
4. A, B,CandD/A, B, C3fiwD



[Option ID = 5980]
25) The acronym, POSDCORB, coined by Luther Gulick stands for:

AT AT T TET TAT & F&rd 7719 POSDCORB #7T 37<f F:[Question ID = 1496]

1. P-Planning, O-Organizing, S-Staffing, D-Directing, CO-Coordinating, R-Reporting, and B-Budgeting. /4T - wfwr, & - sifstarefom, ue - w=fi, < -

T, WS - FrATEA{eT, A - R o7 4 - a=fé [Option ID = 5981]

2. P-Planning, O-Office, S-Supply, D-Demand, CO-Co-operation, R-Report, and B-Budget. /4T - v f=w, & - i, wa - ey, €1 - Raie, @sw - #1-

Sfover, A - fare siw & - a5iz [Option ID = 5982]

3. P-Planning, O-Organizing, S-Staffing, D-Deputing, CO-Coordinating, R-Resolving, and B-Budgeting. /¥t - TS, 3 - siivtaTstomT, U - w=fhT, <5 -

Feggfear, #fier - wratfEat, s - Wrfea siw ff - aorféT [Option ID = 5983]

4. P-Planning, O-Office, S-Supply, D-Decision making, CO-Co-operation, R-Response, and B-Budget. /dT - wfer, 3 - stifteer, wa - Foarr, <7 - oo

T, | - -, A - Reater i & - a9tz [Option ID = 5984]

26) Match List | with List Il

List | List Il
(Theory) (Thinker)
. . . . I. Michael
A. Shared life of a community reduces mutual opacity and allows common self-understandings to emerge. Walzer
. s . . . . Il. Robert
B.The self-directing individual is the only basis of social freedom and economic success. Nozick
. . . . .. ces . . lll. Michael
C. A just initial appropriation of resources makes just subsequent economic inequalities resulting from it. Sandel

D. The notion of ‘complex equality’ is designed to ensure that the distributive criteria salient to one sphere does
not impinge on other spheres where different criteria are appropriate.

IV. F. A.

Hayek

Choose the correct answer from the options given below:

T -l FT gt -1l F TR Five

gt -l gt -l

(Rrgta) (Frarzaa)

A. TF THITT T GTAT ST ATHT AETLATHT HT HLATE || TTEHA

ST TATT SMH-GHH 1 SHA AT 7 ATERT

B. U T o farq s~ ararirs sad=ar T anfSy= II. Ttad

ARAAT HT THATT AETT | GUEES

C. a1 FT TF 3w fafaan frad afcuraegsa g (. 7159w

ATt a1 F1 A F srwaraary a3

D. ‘'Sfed qaTAAT #T qTXvT H 71 a5 Yiiya 7373 3 fog V. T, T
T frar war § 7% us a5 % g gew g awds s T'&EF T
= @F T AT T I STgl (AT AT T SULTH 1 F

19 frg oy faswear & @ ggrsav AT

[Question ID = 1497]

A-ll,B-1,C-1l,D-IV/A-II,B-lI,C-1l,D-IV[Option ID = 5985]
A-ll,B-IV,C-1,D-1/A-Il,B-IV,C-1l,D-I[Option ID = 5986]
A-IV,B-lI,C-ll,D-HI/A-IV,B-l,C-Ill,D-Ill [Option ID = 5987]
A-1,B-IV,C-1,D-1II/A-1l,B-IV, C-1,D-Ill [Option ID = 5988]

A WN -

27) "Capitalism constantly needed to expand into non-capitalist areas.” Who made the above statement?

"gSftars FT AT-gSAard @1 /' Aeqr FLF FT ATATT AALTFAT AT " STUF FA7 Fraa 5A1 T12[Question ID = 1498]

1. Karl Marx/#Te @Rt [Option ID = 5989]

2. Rosa Luxemburg/T<TT #raast [Option ID = 5990]
3. Lenin/=fa [Option ID = 5991]

4. A. G. Frank/T.5f. %% [Option ID = 5992]

28) Who among the following has discussed the concept of ‘Chaukhamba model’ of decentralization in the book Aspects of

Socialist Policy?

frafafea & @ fraa garaard ify # 1gq 39 1Fas # FRdwewr & Sraar qaied 1 sragreort X T4t #1 §?[Question ID =

1499]

1. Jayaprakash Narayan/STaa#Ter A12ra97 [Option ID = 5993]
2. M. N. Roy/TH. T, 717 [Option ID = 5994]

3. Ram Manohar Lohia/¥1 #+Tg¥ @if2aT [Option ID = 5995]
4. Minoo Masani/* wTHT [Option ID = 5996]

29) Which of the following statements are correct?

A. The Right to Information Rules, 2012 supersede the following Rules the RTI (Regulation of Fee and Cost) Rules
the CIC Rules (Appeal Procedure) 2005.

, 2005 and




B. Under the Right to Information Rules, 2012, fee for inspection of records, for each subsequent hour of inspection is INR
5.

C. A PIO is under no obligation to provide requested information to non-BPL category persons without the payment of
application / initial fees.

D. The Central government’s decision shall be final regarding computation of the period of 20 years as the time period till
which information is to be given.

frafafaa ® @ F17 8 s §?

A. =T 1 afaw1T faaw, 2012 fafafaa RTI (e stz amorg w71 fFfaawm) fraw, 2005 st cic fraw @ wfwan) 2005
frawt geafasao wLar

B. =T %T AferaT< 7w, 2012 3 987, afvwa & Adawa g, Thand va@as s 92 3 Mu ges 5 70d §

C. TH qT &g & AT-dfifiuwar St & ATHTT FT A T/IRITF LFF AT F f777 AT 195786 7219 739 3 g arey
TET ]

D. % AT #T 07 20 a9 T 7afer Y TorAT & Ag & 977 AT F €T F T TF ATARILT S ATAT &, SAfI7 e

A9 frg g faseal # @ 98 S9T A ¢

[Question ID = 1500]
1. All are correct/@r+Y @Igt &

[Option ID = 5997]
2. A, Cand D/FFe A, C ST D

[Option ID = 5998]
3. Band C/3aw B 3% C

[Option ID = 5999]
4. A, Band D/FaT A, B #iT D

[Option ID = 6000]
30) What is the meaning of ‘winged eros’ as referred to by Alexandra Kollontai?

TAFAGT HIEATATS GTT IIHT TG a1 TU T FAT A% g?2[Question ID = 1501]
1. Political liberation/7Tsfae f<F [Option ID = 6001]

2. Economic emancipation/afa® <k [Option ID = 6002]

3. Social equality/@maT{Sr T9T=aT [Option ID = 6003]

4. Comradely love of equals/¥TE=TE FTAT FCTa<T T =¥ [Option ID = 6004]

31) Match List | with List Il

List | List Il
(Event) (Year)
A. Cuban Missile Crisis 1. 1990
B. Gulf war Il. 1962
C. Afghanistan war . 1992
D. Bosnia war IV. 2001

Choose the correct answer from the options given below:

g - F g -1 & gRfm A

g -l = -l
(TZAT) (aw)

A. Fga7 Brarsa srefaa I. 1990
B. TFE T Il. 1962
C. ARATIAEITT T 1. 1992
D. Srf¥r=T TiT IV. 2001

19 frg g faswear & @ gy Sav T

[Question ID = 1502]

1. A-1,B-ll,C-lll,D-IV/A-1,B-Il,C-lll,D-IV[Option ID = 6005]
2. A-ll,B-IV,C-lIl,D-1/A-1I,B-IV,C-Ill,D-1I[Option ID = 6006]
3. A-ll,B-1,C-1IV,D-1lI/A-Il,B-1,C-1V,D-lll [Option ID = 6007]
4. A-IV,B-Il,C-lll,D-1/A-IV,B-Il,C-lll,D-1[Option ID = 6008]

32) The doctrine of ‘Hindutva’ was expounded by

Rz & fRrgia #t sarear fras grer #1 7 97?[Question ID = 1503]
1. V.D. Savarkar/#T.2. #Taz=¥ [Option ID = 6009]

2. Bal Gangadhar Tilak/=Ter f¥mer® faer [Option ID = 6010]

3. Shyama Prasad Mukherjee/ =T STg qasit [Option ID = 6011]



4. M. S. Golwalkar/T®. TH. Treraar< [Option ID = 6012]

33) According to James Manor, which amongst the following are ‘essential’ as opposed to ‘helpful’ conditions for
democratic decentralization?

AT AATH FLATE, ArHaT AT FAd=imew @ oy ggras aat @ Fodq faefafas & @ sra-a1 araegsw 22
[Question ID = 1504]

1.

High literacy rates, good Human Development Index scores and high per capita incomes/3g HTE¥AT &%, =1 WTAa foFTa gaaia v 37 97 6t ==ftw
arT

[Option ID = 6013]

. Enlightened civil society organizations which are well developed and actively engaged in development activities/Yag TR HHIS ST ST Tt qE

F foenfeT o faepm wfafafest & 9t =T @ gu §

[Option ID = 6014]

. Lively, free press, multi-party politics and prior experience with democratic politics/Sfram, Tad= I, Fgaehtd TSI 3T AR AT TS FT T

ERCEL
[Option ID = 6015]

. Adequate powers to elected councils, adequate resources, and adequate accountability mechanisms/fatf=a aftwst £ wate arfrat, watm daree i<

TATH SATaRel a5
[Option ID = 6016]

34) Herbert Marcuse uses the term ‘A comfortable, smooth, reasonable, democratic unfreedom’ for

o ATFL W 7 'TH ATAITAF, A, ST, ATHATING Tqd AT A58 HT TIT T5AT § :[Question ID = 1505]

AL\JN—\

. Advanced Industrial Societies/3=d =TI HrET@2T [Option ID = 6017]

. Developing Societies/faamasfrer T@TsT [Option ID = 6018]
. Post- Colonial States/3w¥-sfrafaafar 715 [Option ID = 6019]
. Communist states/®Te=raTar 7157 [Option ID = 6020]

35) Critical approaches to International Relations

FAaATiT el B e ageayger giEFo g € :[Question ID = 1506]

1. see unfair and exploitative aspects in the global system /3% =aeam & s> 3fiv awET T2t w1 3=+T [Option ID = 6021]
2. focus on North/South relations /3 /f&r el 9% 41 347 [Option ID = 6022]

3. believe war can be a means for dramatic change/=g fasat® g T T3 ATedira afada 1 UF =1ae 21 @ar g [Option ID = 6023]

4. all of the above/37<I<h @«T [Option ID = 6024]

36) Digha Nikaya is a collection of discourses of

97 fFTT 7% TFI91 FT TF GIE § :[Question ID = 1507]

AW N -

. Thiruvalluvar/fd%aea® [Option ID = 6025]

. Gautama Buddha/#ita® 93 [Option ID = 6026]
. Mahavira/®gmEiT [Option ID = 6027]

. Parsvanatha/9m3«mr [Option ID = 6028]

37) What is meant by Zero-Base Budgeting?

STO-3q a9 &7 F4T 7% §?2[Question ID = 1508]

1.

Evaluation to see whether the goals for which money was sanctioned and was spent have been fulfilled/7g F@+ & forw qeatsa & 71 e @et & forg
o T TR AT A7 S == BT T on, & @ gu € [Option ID = 6029]

. Budgeting to ensure that the benefits of development are equally available to men and women/ag TfAfard #va & forw a5z awmaT 3 e & amer

TEUT S WIZATS T A w7 F 3qq=4 21 [Option ID = 6030]

. Reviewing every scheme before a budgetary allocation is made for it/=TsT & T astdTr swar= 3 ST & 7= Yede JrstT T Fefver AT [Option ID

= 6031]

. Grouping of financial items by category and then comparing actual expenditure with estimated figures/fa=fr=r waf F oft & MeT W% FHET FAT 3T

T srgATAT siiwet & =T aredafae =7 &7 qaAT w7 [Option ID = 6032]

38) Match List | with List Il

List | List Il

(Book) (Author)

A. The Second Sex I. Betty Friedan

B. The Feminine Mystique Il. Mary Wollstonecraft
C. Vindications of the Rights of Womenllll. Cynthia Enloe

D. Bananas, Beaches, and Bases IV. Simone de Beauvoir|

Choose the correct answer from the options given below:

g -l FY gt - F gR T A

=t -1 R -l




(T=aT) (FEF)

A. T ERT AT I I wI=T

B. T wfufaw ffRes Il. &€ AATTHRTFS
C. FFAFaT aiiw T Uq ® AT . F&frar gas

D. FATATS, A9 AT aaq

Iv. frore €% faaT

19 frg oy fasweat & @ g sav AT
[Question ID = 1509]

1. A-IV,B-1l,C-ll,D-1/A-1IV,B-1l,C-lll, D
2. A-IV,B-l,C-ll,D-1I/A-IV,B-I,C-Il,
3. A-1,B-1,C-NI,D-IV/A-1,B-1,C-1l,D-
4. A-1,B-1IV,C-1,D-1/A-1,B-1V,C-l,

39) In international relations non-governmental organizations are considered

HATCEIT a1 7§ AT-GLHTA ST FT FIT ATATITAT § :[Question ID = 1510]
. sub-state actors/3T-¥TsT ATH=AT [Option ID = 6037]
. transformative actors/If¥ad==T<r If9=aT [Option ID = 6038]

. weak actors/FAs(IZ wf¥=aT [Option ID = 6039]

A w N =

40) Consider the following statements with respect to the Election Commission of India: A. The term of office of the
Election Commissioners is the same as the Chairman of the Union Public Service Commission. B. In case of a difference of
opinion amongst the Chief Election Commissioner and/or other Election Commissioners, the matter is referred to the
President of India. C. Independence of the Election Commission and its insulation from executive interference is ensured by
a special provision under Article 324 of the Constitution of India. Choose the correct statements from the options given

below

qTIT & AT AT ® G 7 fafafag s a3 A a3 A, AT sULHT FT FIAFTA T 15 AT SMITT H AETH D FATA
gIAT] B. BT TATT AL A Y/AT AT ATT ALHT & 19 AANT F ATAR |, ATAAT WILT B TPIFT FT AATI7AT R C. IATT
JITT FT TTATAAT T FTAHTL TEAAT T STFHT FANTT AT B 9 (TATT B AT 324 F T TF AT wragr+ graw giataa
fraTaT e A= feg e fasedi & & 98T SAT A :[Question ID = 1511]

A and B only/#=<T A =T B [Option ID = 6041]
. Band C only/#a= B T C [Option ID = 6042]
. Aand C only/&=< A 3T C [Option ID = 6043]
. All of the above/@+T [Option ID = 6044]

A wnN =

- | [Option ID = 6033]
D - IIl [Option ID = 6034]
IV [Option ID = 6035]
D - IIl [Option ID = 6036]

. non-state actors/¥ - T57 FATHT [Option ID = 6040]

41) What did Machiavelli mean by the term ‘virtue’?

AfFara sy $1 a9 5T & FAT AL AT :

[Question ID = 1512]
1. Moral goodness/afa= s=ars

[Option ID = 6045]
2. Courage and audacity /T T FET=H

[Option ID = 6046]
3. Honesty/saTaTdt

[Option ID = 6047]
4. Justice /=mH

[Option ID = 6048]

42) What is the largest free-trade area of the world?

Torsg T HT8 TST LT ATITC &F F17 7 8?[Question ID = 1513]

1. Mercosur/®®TE% (MERCOSUR) [Option ID = 6049]
2. NAFTA/ATFT (NAFTA) [Option ID = 6050]

3. European Union/ZZrf &= [Option ID = 6051]

4. African Union/stsfisfT = [Option ID = 6052]

43) Under the Indus Water Treaty (IWT), India has been given the exclusive right over the rivers of

A. Chenab
B. Ravi
C. Beas

D. Indus
E. Sutlej
F. Jhelum




g sro w8 (IWT) 3 98, a1La F71 fFasr afyi 9 fFay afywre fear w7182
A. JTTT

B. Trfar

C. faate

D. f¥g

E.9aqs

F.a4ad

[Question ID = 1514]
1. A, Band C only/#a= A, B #i¥ C

[Option ID = 6053]
2. A, Cand D only/#a A, C T D

[Option ID = 6054]
3. B, CandE only/#a« B, C it E

[Option ID = 6055]
4. A,Band Fonly/&a<T A, BT F

[Option ID = 6056]

44) Which of the following names are associated with the theory of global justice?
A. John Rawls

B. Will Kymlicka

C. Thomas Pogge

D. Robert Nozick

mafafea 8 @ STTar AT 0% =917 3 AFTT T T2 A3 Aoy Arwent & @ agtsaegd
A. STtT Tte

B. farer frmforar

C.atA® I

D. Tiad Tiforsw

[Question ID = 1515]
1. A, Band C only/#a= A, B &% C

[Option ID = 6057]
2. A, Band D only/#a+ A, B =T D

[Option ID = 6058]
3. Aand D only/Faer AsfiT D

[Option ID = 6059]
4. Aand C only/FasT A& C

[Option ID = 6060]

45) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The decision-making theory was developed especially in the realm of foreign policy making.
Reason R: It concentrates/focuses on the person shaping international events rather than on the international situation.

In light of the above statements, choose the correct answer from the options given below

= A FITRCTICE : TF FY AFNFAT (A) ST TEX FT FTIC (R) FET AT E

Ffrwad (A) : fAaofa A7 w7 Rrgia fFaw w73 ARy Afy fAafo « 87 9 fawfya fFarararar

FTIT (R) : T ATIHT RAfY 77 SITTITT TTATH KT AMFHT IT 7R A T30 7T 8777 Rfsa/p g #Lar g
ST FAAT & AT § ot fweai § F agrsgc g

[Question ID = 1516]
1. Both A and R are true and R is the correct explanation of A/(A) 3% (R) &t @&l € ¥ (R), (A) #T 98T =187 §

[Option ID = 6061]
2. Both A and R are true but R is NOT the correct explanation of A/(A) ¥ (R) 21 Tl & Teeq (R), (A) FT &l =ATEAT 781 &

[Option ID = 6062]
3. Afs true but R is false/(A) &2t & Te=g (R) @&l 72T &

[Option ID = 6063]



4. Ais false but R is true/(A) 2T A2t § T3] (R) el &
[Option ID = 6064]

46) According to Plato, ‘forms’ belong to the world of

TR F AT, "B fHaar gfaar @ @« fra §2[Question ID = 1517]

1. Becoming/&r ST [Option ID = 6065]

2. Appearances/fZ@Tae [Option ID = 6066]

3. Sensations/®a=AT [Option ID = 6067]

4. Being/#fEae [Option ID = 6068]

47) Which of the following statements in respect of the general systems theory is/are correct

A.The general systems theory is highly attractive from the standpoint of empirical research.

B. The theory has been criticized for failing to adequately cater to concepts such as political power and influence.

Choose the correct answer from the options given below:

qTATY TOTA Agia & dag § fAufaiaa & § 17 908 FI7 98T /8

A. FTATET Forrelt AT T sgwast=a argaaTa & giPam / scafars srwds

B. TS 1{a® af<F srx wara AT sragreursit 7 97fqg €7 F g0 F3 7 57 ©F 3 g 59 Rrgia #7 srar=aqr 1 7€
A9 frg g faseal & & 98 ST ¢

[Question ID = 1518]

1. Aonly/Fae A

[Option ID = 6069]
2. Bonly/#a«B

[Option ID = 6070]
3. Both A and B/A 3% B 3=t

[Option ID = 6071]
4. Neither A nor B/AT aT AFT 2T B

[Option ID = 6072]
48) Under proportional representation system—

argatfas wfafaferes worrst % aga-[Question ID = 1519]

1. The Minorities get representation in proportion to their strength. /gt FT ST HEaT & T | wfafafae ffear & [Option ID = 6073]
2. Representation is given to minor voters also./ATaTfeRT AaaTarst w1 «f wfafaferea fo=r strar & [Option 1D = 6074]

3. Representation is given to minorities people. /st #T Sfaf=fera =1 STaT & [Option ID = 6075]

4. Minorities are given more votes than that of other people./sTeas@a®i &l 57 AR T AT | TferF e fTU ST & [Option ID = 6076]

49) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: According to Kant, “Enlightenment is man's emergence from his self- imposed immaturity”

Reason R: 'Laziness’ and ‘Cowardice’ are the reasons why man remains immature.

In light of the above statements, choose the correct answer from the options given below

A9 T FITRTTTE : TF 71 AfrFwIT (A) T TE FT FII0 (R) FETTATE
FfHFAT (A) : FTT F ATHTL, "AHAATT ST FT AT TaF HT AIRTHAT S SHAT "
HTIO (R) : 'SMATT T HTALAT AT B ATIIF TgH D HILU G

STE<E FAAT @ et A oot forg fyweat 4 @ agr s

[Question ID = 1520]
1. Both A and R are true and R is the correct explanation of A/(A) 3T (R) ZHT @&t & #fI¥ (R), (A) FT H&1 =787 &

[Option ID = 6077]
2. Both A and R are true but R is NOT the correct explanation of A/(A) i (R) 31t @2t & 99+ (R), (A) FT H&T =TT 781 &

[Option ID = 6078]
3. Ais true but R is false/(A) @&t & 97=q (R) &&T A1 &

[Option ID = 6079]
4. Ais false but R is true/(A) @21 2t § 9] (R) F&I

[Option ID = 6080]

50) Match List | with List Il

List | List Il
Characteristic Thinker




A. Power as an attribute of individuals |. Peter Bachrach and Morton Baratz
B.Power as agenda setting 1. Robert Dahl

C.Power is productive Il. Hannah Arendt

D.Power is not only power over but power tolV.Michel Foucault

Choose the correct answer from the options given below:

AT -l /T AT -1l |/ gR™T FSC

gt -l GGLR

(Frgr sreom) (Fr=TTe)

A. THTT A7 U frdwar & €79 afw|l. e agwrT st atdT e
B. FTHgHAT fgfior & &7 d @171 Il TtaE 3g9

C. 97T STUTEF & Il gNT AT

D. af¥F 7 3w gaT AT & afexw afw & |Iv. s wiwiee

19 fag g fasweat # @ gt sacgfg:

[Question ID = 1521]

A-ll,B-1,C-IV,D-1lI/A-Il ,B-I,C-1V,D-Ill [Option ID = 6081]
A-IV,B-1Il,C-Il,D-1/A-IV,B-1ll,C-ll,D-1[Option ID = 6082]
A-IV,B-1l,C-1,D-1I/A-IV,B-1l,C-1,D-Ill [Option ID = 6083]
A-ll,B-II,C-IV,D-1/A-Ill,B-Il,C-IV,D-I[Option ID = 6084]

A w N =

51) Which provisions of the Epidemic Diseases Act, 1897 enabled management of the Covid 19 pandemic?

AETATS O wfdfaaw, 1897 & f57 w1agrai 3 FATIs 19 AgMATH 3 TSI FT 9T FATIT?

[Question ID = 1522]
1. The act allows the Centre to regulate and inspect any ship or vessel or person arriving or leaving any port/ferfa=m #x #1 et oft StETr o7 ST a7
et ST O o AT Frew At =t A ARt s A s i aqufy s g

[Option ID = 6085]
2. It allows the Centre and states to enforce a lockdown/Tg #7 i TTSaT & ATHSTSA AR FIA 1 ALAT AT §

[Option ID = 6086]
3. It allows the government access to the National Disaster Response Fund/ag HZ&TZ FT TTEIT T TATHAT FI1T TF Tg 6T AT <aT &

[Option ID = 6087]
4. It allows the government to promptly respond to any disaster/ag avare & et «ff sraar #7 qFa Starar a7 1 sraafa 3a1 2

[Option ID = 6088]

52) Match List | with List Il

List | List Il

Thinker Concept
l.
Rights of men are two-dimensional

A. Mary Wollstonecraft

1.
B.Hobbes Laws of nature are precepts of reason

1.
C. Locke Property rights are governed by various ‘provisos’

IV.Education is a process of ‘natural growth’
D. Rousseau

Choose the correct answer from the options given below:

g -l FY gt - F gR T A

gt -l gt -l

(EEIESD) (S FeTAT)

A3 I g&ut # srfyaTe fe-arardt €

ATHEARTES ’

B. gisd I, 73 & frag wrer s faga &

— . gofy & stfarsre fafyrs wragrat grer arfya
. A% e 2

D. G ||v. farar wrgfas fFwma 1 s whwar g

19 frg oy faswea & @ g savgiAw:

[Question ID = 1523]
1. A-,B-Il,C-1I,D-IV/A-1,B-Il, C-1ll, D- IV [Option ID = 6089]
2. A-I,B-Il,C-IV,D-1lI/A-1,B-1l,C-1V, D - Il [Option ID = 6090]



3. A-Iv,B-lI,C-1l,D-1/A-1IV,B-1ll,C-1l,D-1|[Option ID = 6091]
4. A-UI,B-1I,C-1IV,D-I/A-1lIl, B-1l,C-1V, D -1 [Option ID = 6092]

53) According to Terence Ball the two main versions of postmodernist interpretation derive from

T T F AT ST-MLTAFITATE FT ATEAT F ST L& TR TG ITH §T §[Question ID = 1524]
1. Hegel and Marx /<t i ATaRT [Option ID = 6093]

2. Foucault and Derrida/®Tiez T 2fe=T [Option ID = 6094]

3. Leo Strauss and Quentin Skinner/foraT w2i@ @ii¥ Ffew fF=% [Option ID = 6095]

4. Sigmund Freud and Bruce Mazlish/f&T= Wroe 3fiv & wsiferer [Option ID = 6096]

54) Neo-liberalism emphasizes on which of the following

Fg-Srearars fAufeafag @ @ frg 7T T 397 §;[Question ID = 1525]
1. Increased state intervention/Ts7 & g&aaT & Ffa [Option ID = 6097]

2. Role of market/aTsITe ¥ {7 [Option ID = 6098]

3. Increased trade barriers/zTTe arermsit # gf [Option ID = 6099]

4. Social justice/amaTior® =17 [Option ID = 6100]

55) Arrange the following in a chronological order:
A.Weimer Republic

B.Potsdam Conference

C.Marshall Plan

D.Bolshevik Revolution

Choose the correct answer from the options given below

faafafa £ sramgslas ma 3 gafRag
A. TS

B. wicaew @¥A AT

C. #ref e T

D. redifas #1fy

A9 frg g faseqt & @ 9y S9T A ¢

[Question ID = 1526]
1. A,D,C,B/A,D,C, B
[Option ID = 6101]

2. D,A,B,C/D,A, B, C
[Option ID = 6102]

3. A,B,C,D/A,B,C,D

[Option ID = 6103]
4. D, A C,D/D, A C,D

[Option ID = 6104]
56) Approaches to development that emphasize the environment, often want to focus attention on which of the following?

T 9T ST’ A1 e & gfEwron, axax ufafaa & @ fra ¢ sq17 F57 797 9187 §2[Question ID = 1527]
. Sustainability/f=rzar [Option ID = 6105]

. Accountability/saTa==T [Option ID = 6106]

. Transparency/TTeaféaT [Option ID = 6107]

. Autonomy/EaTa=rar [Option ID = 6108]

AL'JN—\

57) The concept of the ‘Four pillar state’ was advocated by

AT TG T ST 1 ATHTIT H 1T THTAT 98D T F1 7% 9 T12[Question ID = 1528]
. R. M. Lohia/#mz. mH. S1fZ=T [Option ID = 6109]

. M. N. Roy/T#. 7. 717 [Option ID = 6110]

. J. L. Nehru/st. t=1. g% [Option ID = 6111]

. B. R. Ambedkar/=T. &%, sfaresv [Option ID = 6112]

A W N =

58) Which amongst the following is not typical to post-New Public Management?

frafafaa 8 @ wr7 91 Tiee-=g afsws e & fog f&fae adf §2[Question ID = 1529]
1. Digital governance/f2fre=t s [Option ID = 6113]

2. Engaged governance/& =¥ «ma« [Option ID = 6114]

3. Public value/aTasif== ge= [Option ID = 6115]

4. Politics-administration dichotomy/Ts<i{-g9rme= fZwTst=r [Option ID = 6116]



59) Who amongst the following thinkers argued that ‘Modernity’ eroded ‘National identity’ and led to ‘Cultural
homogeneity’?

fafafaa § 4 frg = T % a7 s srgfasar 8 <vha gg=r &7 fier fTar i aitgfos gasaar 7 s 1917

[Question ID = 1530]

1. Mahatma Gandhi/@greaT it [Option ID = 6117]

2. Karl Marx/=Tet |7 [Option ID = 6118]

3. Rabindranath Tagore/f3g=Ter 2% [Option ID = 6119]
4. J.S. Mill/3r.m=r. farer [Option ID = 6120]

60) In Rawls’ book, The Law of Peoples (1999), ‘well ordered peoples’ include

Tieq FT q&TF, T AT A% Naed (1999) &/, 'q=& 7 & FAargq A1 & arfws § :[Question ID = 1531]

1. Reasonable liberal peoples and non-reasonable liberal peoples/==TT{=a Sa¥aTar AT 3T {7-3f=a ITeaTEl @ [Option ID = 6121]
2. Reasonable liberal peoples and decent liberal peoples/Z=TT{=a IETXATET AT 2T AT IZLATET AT [Option ID = 6122]

3. Reasonable liberal peoples and decent non-liberal peoples/==T{=ra IETTATEr AT 3T T AT-IT<ATET AT [Option ID = 6123]

4. None of the above/STZIF & & &< 21 [Option ID = 6124]

61) Arrange the following in ascending order:
A.Break-up of the Soviet Union

B.Perestroika

C.The Prague Spring

Choose the correct answer from the options given below

frafafeg 1 O w7 § =wafeas w3
A. Sifagg o &1 faaeq

B. ¥X&ZHT

C. g1 fEgr

A= fT g faswedi & ] 987 ST HA ¢

[Question ID = 1532]
1. A,B,C/A, B, C

[Option ID = 6125]
2. B,C,A/B,C, A

[Option ID = 6126]
3. C, B, A/C, B, A

[Option ID = 6127]
4. A,C,B/A,C, B

[Option ID = 6128]
62) Which is the largest state-less ethnic group?

a8 I87 USsA-fafia 1t aqg #19 a1 §?[Question ID = 1533]
1. Palestinians/ffered o= =1 [Option ID = 6129]

2. Serbs/#at T [Option ID = 6130]

3. Kurds/#=t #T [Option ID = 6131]

4. Shiites/frmat % [Option ID = 6132]

63) In the 1960s, who formulated a new conceptual category, ‘The Congress System’ to characterize India’s party system?

1960 % 3% |, fraw ux 9 A1ies Foft Fa1T ;) ‘AT Rreew’ qareg 1 97T gt w1 ffeqaa $77 # frw?[Question ID =

1534]

1. Jayaprakash Narayan /StTseRter 9120407 [Option ID = 6133]
2. D.L. Sheth/r.ua. &z [Option ID = 6134]

3. Rajni Kothari/Zsi=T 14T [Option ID = 6135]

4. Ramashray Roy/Tmm® 7{= [Option ID = 6136]

64) Who wrote Ain-i-Akbari?

MET-T-AFaE fraa fargi?[Question ID = 1535]
1. Amir Khusrao/ 3% g&<ra [Option ID = 6137]

2. Akbar/#ra¥ [Option ID = 6138]

3. Abul Fazl/3rge et [Option ID = 6139]

4. Barauni/aZI=T [Option ID = 6140]



65) What are the three recognized methods of ‘Policy evaluation’?
A. Policy impact evaluation

B. Policy strategy evaluation

C. Policy project appraisal

D. Policy formulation

Choose the correct answer from the options given below

Y gt F1 AT qAveI AT 97 FAfAAT FYA-A 2
A. Y waTT gEATET

B. Frfxr Tordtfa geatwa

C. My st geatsEa

D. tfy fawfor

A9 frg g faseal # @ 98 SHT A ¢

[Question ID = 1536]
1. Aand B/#a AT B

[Option ID = 6141]
2. A,B,and C /FaaT A, BT C

[Option ID = 6142]
3. A,B,C,and D /A, B, C 3= D

[Option ID = 6143]
4. None of the above/STaI<k & & #1E 7l

[Option ID = 6144]

66) Match List | with List I

List | List Il

(Author) (Book..)

A. Kate Millett. I. Public Man Private Woman
B.Simone De Beauvoir Il. The Second Sex

C. Germaine Greer. Ill. The Female Eunuch

D. Jean B. Elshtain IV. Sexual Politics

Choose the correct answer from the options given below:

AT -l Fr AT -1l |/ gRiYT v

gt -l = -l

(FE) (T&T%)

A. 3T fide | afser #7 yTgae A7
B. f¥rav % sgatax Il. T §%T FFT

C. STHT AT lIl. T FYAT g9

D. St ft.ueqrdq IvV. aagera qifafeaa

19 frg g fasweat & @ g sacgfAw:

[Question ID = 1537]

1. A-1,B-ll,C-lll,D-IV/A-1,B-1l,C-1ll,D- IV [Option ID = 6145]
2. A-IV,B-lll, C-Il,,D-I/A-1V,B-1ll, C-1l,D-1[Option ID = 6146]
3. A-IV,B-1lI,C-lll,D-I/A-IV,B-1l,C-1ll,D-I[Option ID = 6147]
4. A-1,B-lll,C-IV,D-lI/A-1,B-1ll,C- 1V, D - Il [Option ID = 6148]

67) Which ‘group-differentiated rights’ does Kymlicka suggest may be introduced by plural, democratic states for external
protection?

F17 8 'gg-fad g safawre o Feafasr £ qama § B aga, drear s sy gra argd grar s o yRiy o sraws 82

[Question ID = 1538]

1. Special group representation rights/fa9rT g sfafafaea srfes [Option ID = 6149]
2. Self -government rights/&-8a<FT #ferTe [Option ID = 6150]

3. Polyethnic rights/agsiTe = stferTe [Option ID = 6151]

4. All of the above/3T%rI<h @+t [Option ID = 6152]

68) Which one of the following approaches or models of international politics does not give importance to the role of state
as an actor?

afafea d @ 17 a1 gfEwrm a1 Stgrdin UaEiy 1 ated UF 77 3 §TF UsT F71 L0F7 F7 74577 7T TAT?[Question



ID = 1539]
Dependency model/f&«¥aT Atz [Option ID = 6153]

Realist Model/zrmei=T€T wizer [Option ID = 6154]

Neo-realist model/F=-rei=TaT Higer [Option ID = 6155]

Interdependence pluralist model/s=aT=aT=17 sgeraTar #ise [Option ID = 6156]

AN wN -

69) The have an inclination toward skepticism, debunking, and deconstruction of ‘universal truths.’

HT FLHTT T ATAF T¢T B FqAATR, @7 T fraaT :Y AT & [Question ID = 1540]
Postmodernists/3T¥ smefaararaTar [Option ID = 6157]

Behaviorists/=Tagrearar [Option ID = 6158]
Socialists/#®TsraTar [Option ID = 6159]
Revisionists/®eTe=T=r [Option ID = 6160]

A W N -

70) The South Asian Free Trade Agreement (SAFTA) has not been a success because of:
A.Narrow export base of countries.

B.Lack of bilateral free trade agreements.

C. Political hurdles.

Choose the correct answer from the options given below

gfror uiftrarE g SATIR GaATAT (SAFTA) fFArafafaa oot @ g% 781 W 8:
A. R FTEH frafa sweTe

B. fEwefiT L& AT FAATAT FT AATT

C. TIIAIfas FTerTY

A9 frg g faseal § /@ 98 ST ¢

[Question ID = 1541]
1. Aand B only/#a1 A 3fi B

[Option ID = 6161]
2. Aand Conly/&Fa=T AT C

[Option ID = 6162]
3. Band C only/#a B 3w C

[Option ID = 6163]
4. A, Band C/A, B &7 C

[Option ID = 6164]

71) Match List | with List I

List | List Il

(Thinker) (Book.)

A. Panini I. Yoga sutras
B. Bharata Muni Il. Vajrasuci

C. Asvaghosa 1ll. Natya Satra
D. Patanjali IV. Ashtadhyayi

Choose the correct answer from the options given below:

AT -l Fr AT -1l |/ gRiYT v

gt -l GGUR
(Fer=Tea ) (TEqF)

A, griarfy I YT T

B. W< qfw Il. ISt

C. STTETT ll. ATSTATH
D. gqrfer IV. sreTeaTAY

19 frg g fasweqt & @ gfrsacgfg:

[Question ID = 1542]
A-IV,B-ll,C-II,D-I/A-1IV,B-lll,C-ll,D-I[Option ID = 6165]
A-IV,B-I,C-lll,D-1I/A-IV,B-l,C-lll,D-Il[Option ID = 6166]
A-1,B-ll,C-lll,D-IV/A-1,B-Il,C-lll,D-IV[Option ID = 6167]
A-1ll,B-1V,C-l,D-Il/A-1lI,B -1V, C-I,D-Il [Option ID = 6168]

A w N =

72) Which amongst the following are features of the Jan Lokpal Bill?

A. The Lokpal will have powers to receive complaints from the public and initiate suo-moto action



B. The Lokpal will have police powers and would also be able to register First Information Reports (F.I.R.s)
C. The Lokpal and CBI will not be connected
D. The Lokpal would be able to commence prosecution of anyone found guilty

Choose the correct answer from the options given below

frefafaa & @ w17 @1 7 dreara fagas #1 fodyard 82

A, FITH F 979 F97T & FAFTIT I77 T3 T 90T & FILATE L& FA FT ATARTT T
B. r&waTa & qra Tiorg orfxe Fraft s a8 waw a1 RO (F.1L.R.s) T F34 & #1 aq7 grar
C. FrHaT T "sTams w1 TG FUST ATTIAT

D. FITH YT ITT A7 a7 Fet Y AT & 1w gawgar a9 & ggq v

19 frg g faseal & /@ 98 ST ¢

[Question ID = 1543]
1. Only A and B/&=<T A 3T B

[Option ID = 6169]
2. A,Band C/FaaT A, B =i C

[Option ID = 6170]
3. A, Band D/FaT A, BT D

[Option ID = 6171]
4. A, B,CandD/A, B, C#< D

[Option ID = 6172]
73) Which one of following was not authored by Plato?

frafafaa & & 17 971 gFa® v ey grr gt fa@r 7771 T17[Question ID = 1544]
The Statesman/@ T=#a [Option ID = 6173]

The Laws /= @t [Option ID = 6174]

Apology/TaT=Tstt [Option ID = 6175]

Nicomachean Ethics/fR= &= ufa== [Option ID = 6176]

A w N =

74) Which one of the following is incorrect about the representation model suggested by Hanna Pitkin?

g7 frefFs gy gary ag sfufafa atea & g § Fafafaa & | 19 91 797 §2[Question ID = 1545]
1. Authorized/wrferga wfaffere [Option ID = 6177]

2. Proportional representation/satiae sfafafac [Option ID = 6178]

3. Symbolic representation /S sTeR= TfatAtereT [Option ID = 6179]

4. Substantive representation/daTfea= Tfafafares [Option ID = 6180]

75) Which one of the following statements is not correct?

faafafea 9 @ #1791 97 a& T8 8?[Question ID = 1546]

1. Diplomacy is an instrument of foreign policy/#e=Ta farger A &1 w= |18 & [Option ID = 6181]

2. Major international agreements are usually negotiated by foreign ministers/S¥@ qvTga FHHATAT U AHATL U forzer §HE=1 g7 ara=a 6 St §
[Option ID = 6182]

3. Diplomats do not play now as great a role in international negotiations as they once did/¥Ts= e o1a siaveTgr ardist § Ia«t a=1 AT 78! A9,
fra=t et s & [Option ID = 6183]

4. Diplomats now get greater latitude than they enjoyed in 19th Century/¥TSI{at T 37 1977 ordTedt ¥ qoeT § efdr Erer fiadt § [Option ID = 6184]

76) Match List | with List Il

List | List Il
(Thinker/Ideology)|(Ideas in International Relations.)
I. Inter-state conflict is due to the structure of the international system:

A. Kenneth Waltz |° . . .
namely, the lack of an overarching authority above sovereign states.

B. Liberalism Il. States are power maximizers.
C. John
Ill. Global governance system
IMearsheimer g y
D. D. Michael IV. ‘social world’ is not external to the people who live in it and is easily
Zurn changed.

Choose the correct answer from the options given below:

T -l FY gt -1 F gR T v

g -l gt -1l
(Fr=aTe/faaTaT)|(siactfia adet § fF=ary)




| FT-TSATT GIT HT HTIO SATIETT ATEAT 1
A. FRT TTEIT GTTAT §: AAT, GAY ST F FITCH ATIH

FfasT T FAT
B. STTIYATAT Il. 757 FAfTFIE Af3F T87T §
C. st fafdra I, 339+ aras gt

Iv. |rarfyr® gfaar & @ ara @l & fagag
D. €. ATER A [ Eg gfar argdt At & st ag srardt & sa Jrat

19 frg oy fasweqt & @ gt sacgfo:

[Question ID = 1547]
A-1l,B-lll,C-IV,D-1/A-1I,B-1il,C-1IV,D-I[Option ID = 6185]
A-1,B-IV,C-1l,D-NI/A-1,B -1V, C-1l, D -1l [Option ID = 6186]
A-IV,B-lll,C-I,D-II/A-1V,B-1ll,C-1,D -1l [Option ID = 6187]
.A-II,B-II,C-I,D-IV/A-1Il,B-1l,C-1,D-1IV[Option ID = 6188]

A W N -

77) Match List | with List Il

List | List Il

(Thinkers) (Books)

A. Periyar I. The Cry of Indian Women

B. Jyotirao Phule 11.Stri-Purush Tulna (A comparison between woman and man)
C. Tarabai Shinde Ill. Why were women enslaved

D. Pandita Ramabai IV.Shetkaryacha Asud (The cultivator’s whipcord)

Choose the correct answer from the options given below:

AT -l /T AT -1l |/ gR{™T FSC:

gt -l g -l

(Fr=Tea ) (TETF)

A. Tfam I T #TT A% 3 feaT g8
B. A< | Il. & - 92T TAAT

C. qrIraTs far I1l. 38T ST TAT YATFAT
D. g f¥ar varars IV. SqFTATAT AMYT

A9 frg g fasweat & @ g sacgfw:

[Question ID = 1548]

A-1l,B-Il,C-1,D-IV/A-1ll,B-Il,C-l,D-IV[Option ID = 6189]
A-1l,B-1,C-IV,D-llI/A-1l,B-lI,C-IV, D-lll [Option ID = 6190]
A-IV,B-ll,C-1,D-II/A-IV,B-lll,C-l,D-Il [Option ID = 6191]
. A-ll,B-IV,C-ll,D-I/A-Il,B-1V,C-Il, D -l [Option ID = 6192]

A w N =

78) Who heads the administration of the union territory of Lakshadweep?

THETT D5 ATIAT TA F TATHT FT TG F17 §2[Question ID = 1549]
. Governor/¥1sa9Ter [Option ID = 6193]

. Lieutenant Governor/39Z1sq9TeT [Option ID = 6194]

. Administrator /92 [Option ID = 6195]

. Secretary/@f=a [Option ID = 6196]

A WN -

79) Which amongst the following is not a key tenet of Liberalism?

faafafea 9 @ #1791 STRaTaTe 71 99" Rrgia 78 ?[Question ID = 1550]
1. Economic determinism /srfs= fA=faaTs [Option ID = 6197]

2. Possessive individualism /&férmeqef =rfraTa [Option ID = 6198]

3. Individual Liberty /=af<Ta Ta=rar [Option ID = 6199]

4. Pluralism/=sigerats [Option ID = 6200]

80) Who amongst the following Marxist thinkers introduced the concept of ‘hegemony’?

rafafag aredarst et & @ fras arfirac € sraamoT Ter #1?2[Question ID = 1551]
1. Gramsci /ITeT [Option ID = 6201]

2. Lenin /<f9= [Option ID = 6202]

3. Louis Althusser /=9 #1=E¥ [Option ID = 6203]

4. Rosa Luxemburg /=TT stsFraeRt [Option ID = 6204]

81) Which article bars the interference of the Judiciary in the matter of polls conducted by the Election Commission of
India?

FIT AT ALTAT WILT B AT SMATT FTIT FITQ AT ATAT ® ATAA | ATAYTIAFT B gea@ T w1 AT g2[Question ID = 1552]



Article 325/3=3% 325 [Option ID = 6205]

Article 327/39=%7 327 [Option ID = 6206]

Article 328/3r9=37 328 [Option ID = 6207]
Article 329/s =3 329 [Option ID = 6208]

A W N -

82) In which case did the Supreme Court of India lay down clear guidelines in instances of sexual harassment?

AT & gaig ~A1ATad 3 Fo5g aras ® a7 ITIgT & 719t 3 a8 7 ey faar-fda fg §2[Question ID = 1553]

A W N -

83) Who among the following endorse anarchism?
A. Karl Marx

B. Pierre Proudhon

C. Peter Kropotkin

D. Adolf Hitler

fawfafaa 8 @ 19 AUTFATITE FT TR T FIAT 82
A. FT ATFA

B. fraR wrset+

C. freT FravefHe

D. TSTeE fgeas

= g g fasedt & @ gt S HA ¢

[Question ID = 1554]
1. A,BandC /7T A, B 3T C

[Option ID = 6213]
2. Band C/#a« BT C

[Option ID = 6214]
3. Band D/#3< B 3w D

[Option ID = 6215]
4. Cand D/Fa<1 C 3T D

[Option ID = 6216]

. Vishakha and Others versus State of Rajasthan and others/f3ermaT 3T ¥= FTH TSTEAT 5T ¥ =T [Option ID = 6209]
. S.R. Bommai versus Union of India/T#.3M%. a1 =19 91<a &= [Option ID = 6210]

. Indira Sawhney versus Union of India/Zf3¥T aTgsT a=m® 912 &= [Option ID = 6211]

. Tukaram and Others versus State of Maharashtra case/qHTTH ¥ =7 F9TH AT 57 {HaT [Option ID = 6212]

84) Which among the following provisions of Indian Constitution have been taken from the Weimar Constitution of Germany?

1A @ frara & it sraar it & & 1T araa+ & Sraca@arT @ frar 737 §2[Question ID = 1555]

The concurrent list/@#aT =T [Option ID = 6217]

Fundamental duties/®T{er =T [Option ID = 6219]

AW N =

Suspension of Fundamental Rights during emergency/TITasTe & ZIXTH Hifors ATl 7 fAora= [Option ID = 6218]

Independence of judiciary/=rmraT{ersT ¥ FTaa=aT [Option ID = 6220]

85) Which citizenship amendment act made illegal immigrants ineligible for citizenship by registration or by naturalization?

frg Aarafewar o avaa stfarfaaw @ rd g ewarfyat w1 asfiweor 1 Tefrawor grer arnfewar & f¥3rw srars 77 fEg1?[Question ID

= 1556]

A W N -

Citizenship (Amendment) Act, 1986/ATTi=haT (Femrer) srfarfa=a, 1986 [Option ID = 6221]
Citizenship (Amendment) Act, 1992 /ATIRaT (Femeam) srferfazm, 1992 [Option ID = 6222]
Citizenship (Amendment) Act, 2003 /AT (FFeTterd) sTfarfa=s, 2003 [Option ID = 6223]
Citizenship (Amendment) Act, 2005 /ATRTIRaT (Femer) srferfazm, 2005 [Option ID = 6224]

86) Which political thinker has argued that there is a shift from ‘politics of ideas’ to the ‘politics of presence’?

foag Terifas faameaw 9 a3 faar g & e & sty & sufRafy 31 wroriiy & afcad s g1 181 32[Question ID = 1557]

1. Martha Nussbaum/#TT g&=Tw [Option ID = 6225]
2. |. M. Young/#rs. wH. =T [Option ID = 6226]
3. Susan Ferguson/daT™ w4@ [Option ID = 6227]
4. Anne Philips/T+T fferer [Option ID = 6228]

87) Which of the following are associated with Public Interest Litigation?

A. Expansive view of the rule of locus standi

B. Stringent judicial procedures



C. Procedural flexibility

D. M.C. Mehta vs. Union of India (1987)

Choose the correct answer from the options given below

Fafafeq § & #19 Safga w18 dafra g2
A. FFg TET F qTET FT {Aeqa giEyFo

B. 31T =arfis airarg

C. wfFrareas ataras

D. TH.HT. AZAT IATH AT EF (1987)
= fRro g faseat /4 9 gt IwT A ¢
[Question ID = 1558]

1.

A, B, Cand D/A, B, C3iT D

[Option ID = 6229]

. Band D/#a«TB 3T D

[Option ID = 6230]

. A,CandD /Fa A, C T D

[Option ID = 6231]

. Band C/#a@ B 3w C

[Option ID = 6232]

88) Which of the following is not a part of the Directive Principles of State Policy?

frafafaa & & 17 Tsa 3 ifv AR as qat #1 fgearagdi 2
[Question ID = 1559]

1.

Secure for all citizens a uniform civil code throughout the country/T¥ Zer & T+ft ATyt & forg wa s Frrfea a@fgar gefer

[Option ID = 6233]
Cow-Protection/TT-&Z&10T

[Option ID = 6234]

. Protection of environment /Tata¥or #t qTeAT

[Option ID = 6235]
All minorities shall have the right to establish and administer educational institutions of their choice/T¥t sr=aeiea=t T T Tz % foreqor Feem
T F0 ST HATITT HT &7 SATHRT g

[Option ID = 6236]

89) In the context of the United Kingdom, the reforms Acts of 1832, 1867, 1884 are related to:

q;?rr's'%:nf fFrsw & g3+t #, 1832, 1867, 1884 3 a arfyfaaw gwd g4 fAq §:[Question ID = 1560]

A wnN =

Powers of Lords/=tg# T i<t [Option ID = 6237]
Powers of King/TT<TT -y <= [Option ID = 6238]
Franchise/@aTfersT< [Option ID = 6239]

None of these/z=# & T W&l [Option ID = 6240]

90) Article 18 of the Indian constitution deals with

AT | a7 F7 A7=3T 18 TG A5 TUT & :[Question ID = 1561]

A WN -

Abolition of untouchability/r=gTaTr T 37T [Option ID = 6241]

Abolition of Titles/3aTfert T 3=+ [Option ID = 6242]

Protection in respect of conviction for offences/sreret & forw Frafifs & daer # weror [Option ID = 6243]
Protection of life and personal liberty/sftae = sfRFTa Tad=rar 1 g7241 [Option ID = 6244]

91) Zoon politikon refers to:

§ ifarfesta €2f¥a #2at §:[Question ID = 1562]

A W N -

Man as a political animal /U= TISHITaH ST & &7 § TeT [Option ID = 6245]
Political community /TS FH=T [Option ID = 6246]

Political space /¥Tsi=Tas = [Option ID = 6247]

Political economy/Tst+Ifere === [Option ID = 6248]

92) Which of the following are included in the basic structure of the constitution of India?

A. Judicial Review

B.Preamble

C.Free and fair elections



D.Secularism

Choose the correct answer from the options given below:

frafafaa @ & 17 917 $ | fara #7 ga g=ar § arfaa §2
A. =aTias adtET

B. WEQqTAAT

C.Taq o sitT fsaer gaT19

D. gH AR eraT

A9 frg g faseai & & 98 ST ¢

[Question ID = 1563]
1. Only A & B/Fae A =T B

[Option ID = 6249]
2. Only A & C/FaeT AT C

[Option ID = 6250]
3. OnlyA, B&C/FaeA, BT C

[Option ID = 6251]
4. All of the above/3T<r=F &sft

[Option ID = 6252]
93) The first President of the Republic of China was:

FT TOUTST $ Ugd WEIFT T:[Question ID = 1564]
1. Tae Ping/dTu fiw7 [Option ID = 6253]

2. Mao Zedong/HTsir SreT=T [Option ID = 6254]

3. Sun Yat Sen/&= T - A7 [Option ID = 6255]

4. Li Peng/=T 9T [Option ID = 6256]

94) Who wrote the book The Civic Culture?

T frfas seav geas fraa foaret §2[Question ID = 1565]

1. Karl Deutsch/#Tet =J¢1 [Option ID = 6257]

2. Gabriel Almond and Sidney Verba/rfaae sreraie =i ffre=t a=T [Option ID = 6258]
3. V.0. Key/#1.4. % [Option ID = 6259]

4. Max Weber /&= 3917 [Option ID = 6260]

95) Iris Marion Young wrote about:

argfea g 479 395 IR § forar &:[Question ID = 1566]
1. Democracy and Difference /IHT#HT U fEH{T [Option ID = 6261]

2. Cosmopolitanism/Fiedrarferefasd [Option ID = 6262]

3. Enlightenment/uaTze"#Hz [Option ID = 6263]

4. Marxism/@TiFEsTa [Option ID = 6264]

96) The Fundamental Duties were added to the Indian Constitution in the year

AT & fargr & wifors wdeal $7 39 99 & STSTIAT 97 :[Question ID = 1567]
1. 1956/1956 [Option ID = 6265]
2. 1976/1976 [Option ID = 6266]
3. 1980/1980 [Option ID = 6267]
4. 1987/1987 [Option ID = 6268]

97) Match the following authors with their books:

List | List Il

(Author) (BOOK)

A. Perry Anderson |l. The Indian Ideology

B.Partha‘ II.The Nation and its Fragments

Chatterjee

C. Paul Brass lll. Imperialism and the Developing World: How Britain and the United States Shaped the Global
Periphery

D. Atul Kohli IV.Ethnicity and Nationalism: Theory and Comparison

Choose the correct answer from the options given below:

g -l FT gt -1l F TR Fiivg
=t -1 fgsfr-n




(FEF) |(TTIF)

A- Al I. T EfaT srefeaiag

TETHT

B. gref . _

I A AT UT TTH HAATEH

C.atw  |lll. s=afeerforen O 7 Sqafir a+< : grs fodw de 1 gaTeee

LK €2TH A°E T TqIa TA®HL

D"r:a%ra Iv. Tf3afad ds ermriaew : e g Fe e

1= fegarg faweat & @ gt svefAAT:

[Question ID = 1568]

A-1ll, B-1V, C-II, D-1/A-Ill, B-1V, C-Il, D-I [Option ID = 6272]
A-1, B-Il, C-lll, D-IV/A-I, B-Il, C-lIl, D-IV [Option ID = 6269]
A-1l, B-1V, C-1lI, D-1/A-Il, B-IV, C-lll, D-I [Option ID = 6270]
A-l, B-ll, C-1V, D-Il/A-l, B-ll, C-1V, D-lIl [Option ID = 6271]

AW N =

98) Who coined the phrase “permit-license-quota Raj” to describe the system of state-directed economic development

planning in India?

qTT ® UsF-fA3 1 anf= fasra Trsrar % worret #7907 37 3 {90 qfye-arsda-Frer s araaier fFaa 781?2[Question

ID = 1569]

C. Rajagopalachari/#. Tr=RaTE=T<T [Option ID = 6273]
T.N. Srinivasan/#1.u=. “fiff=m= [Option ID = 6274]
Atul Kohli/sTqe Frgeft [Option ID = 6275]

M.M. Ansari/TH.7®. SHTT [Option ID = 6276]

A w N =

99) The view of politics as conciliation of interests is endorsed by:

f%’a‘r F AL ® €T A UFAITT F g0 F7 977 Bram g1 F7971 9197 &:[Question ID = 1570]
Liberalism/3ar¥arare [Option ID = 6277]

. Marxism/9TiaTs [Option ID = 6278]

. Postmodernism /3<% sefadraTs [Option ID = 6279]

Anarchism/@ZTstshdrare [Option ID = 6280]

A wN =

100) What is the main role of the IMF?

AMETATE %1 T &F SLIAFT F4T 2?2[Question ID = 1571]
1. To ensure a stable exchange rate regime and provide emergency assistance to countries facing crises in balance of payments. /o T 3% ==
FRATET FTAT 3T AT S T § Hhe FT TEAT F T 2900 F ATTTAHRTAT TEIAAT T2 F7AT [Option D = 6281]
2. To be a forum for trade and liberalization/=ITaT¥ ¥ ST & o7 Ue H= =T [Option ID = 6282]
. To assist countries in development/fame & eff T FETaaT H7AT [Option ID = 6283]
To facilitate private investment around the world /=T 9= # fasfT faarer i gfarem 347 [Option ID = 6284]
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